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���� ���	�� 
� �
���� �����
 ���
������ ���  

 

��������	 
���
:   
 

       ���� �	 
��
������ ���   ������ ������ .      ���	 ����� �
��
  

���  
��
�������� ������� !�
��"� 
��
������ ���  )  #�$�Li
2+

 , He
+
   

 %�� ��&
 ( '*� ��+�
 �*
��� ���� ,���  .  

 

  
  -�	/0           ���

��� ��0�+�� ��1� �23 �/4� 51��� 
* ��61� �'0
     ��0�+� ��
� %'0�0 �	
Ze
'  +    

80
 9Z       9 ��+�
 ��
���� 
��
����'� 

 �'08
M
 � :0�+� ��
�08�– e
'  :0'08
 m .    

 

  �     ;
3 �+0<�� �
�
 
e    ���0 -=*� ���    ,
�� !��+
 )     �$ >� >�  (

 

0
���� ��+� ��	 ?08�: 

 

e' = 4.8032 x 10
-10

  start  C , e = 1.6022 x 10
-19

 C   
 

  A�+�            B�8�� 

8� A�+ ���0�� #8���� C6
� 
	 -=*� �
8���� >����� 

�
��� ��* �$��+�� >������.   

 

 �++D��� �'08�� ���reduced  mass µ  E
��03 
��
������ ����  
F� �'08� G����20 A�+ 

�08�� ��
��� �'08 
( M ) E
��0 1846  ��'08� ��� 

F� 

�08�e 
H3 ���0���
 µ:   

 

µ = m
1846

m1864

)m1846(m

)m1846(m

Mm

mM 




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�I

  

  

�� �����	
��
	��� ��� ������ �	����� ��	��
� �	
��
	��� ������   

 

      >����� ��
D ?��20 ���8�� ����
���       %�+0� :�3 E��� >����� %�� �  

��08�
         � B8�� ��* ��
��� 
� J��� E
�8 #$��0� #��� �3  F� >�����  4�
 �$���+ 


'* #�1��� >����� ���� ����
�� ����1� ?�8�0  :  

�F� 
�� ?���� �K�� �	 ��	 ����� �K�� 
 ?080
 ��
���
 

�08� :  

V  =  -  
r

'Ze
2

      … (106) 

  A�+r     F�
 ��
��� 
�� �3����� �	   

�08� .     �$L���� ?�08� �M��*

 ���0��8 ��
0'�����:   


H  =  -  

2

2
h

  2   -  
r

'Ze
2

     … (107) 

 ����0�� �N�D��� ����
�� ����1� C�D0
:  

2   + 
2

2

h


  ⎟⎟

⎠

⎞
⎜⎜
⎝

⎛


r

'Ze
E

2

    = 0    … (108) 

r 

�������� 
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�O

             ���'�
+0 GP
� ��N��� �����1��� -��	 #+ #�� 
�
� ���   �N��D   

�       F� ��P�� ��'+ #��� A�+ ��
�8 ����K !��$��+      
��
 �����2�� !��$���+  

       ���'* !���N0��� #D3 �2��� ;���0 >$  9      �+
������ ����
��� !P���� ���
���0�� �N�D�� %'0�03 ��0���� � :  

   =  Rn.l ( r ) ( )l.m 
m

)(  ( Φ )   …(109) 
 

      3 9 !���N0� �$=$ ��
0 :�� ���
H    �'* 
�600� #
'+�� 
�   ��$=$ 
 �	 >8 ���*� :  

   ���M��� >8�� ��*Principle quantum number  , n  

 E
�B�� >8�� ��*Angular – momentum quantum number  , l   

 ������N��� >8�� ��*magnetic quantum number , m  

 !P���
   ���0��8 >8�� ���*� >�K ��+00 ��
�2� :  

n  =  1 , 2 , 3 , 4 , …… 

l   =  0 , 1 , 2 , 3 , …… , ( n – 1 ) 

m = - l,  - l  + 1,  ……. , l  -  1 , l 
 

�  E��2�� �D� #��1�� 
radial factor , Rn,l ( r )  �����1��� �3  (109) 
 �3���'� ���� 
	r'* ��010 :01���
 � >8�� E��* l , n    ���01� 
��+ �3  

 �0�$ E
�B�� #��1��)()H(
m.l




  9theta factor '*  � m , l 
  � #��1�� 

 E�3 E
�B��Φm ( Φ ) ، phi factor �   ـ� ���:  

 

Φm ( Φ ) = ( 2π )
 – 1/2 

 e
imΦ

    …(110-5) 
 

 A�+� 
 := 1 i    

 ���K ���+0� �
�+�� #�10�0 �� G����&
l  ���0�� #
����� ��8 

�08P :  

 

�	�!!!!!!�  " # $ % & ' 

�
(�)��� *����  

s p d f g h 
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�Q

�   ���K 
n      � -���� ��
���� ��+�� #�K R6
0 �   ���K �m      ��'<��� R�6
03  .
 ���� =$�32s ��� ���+ l = 0  , n = 2     


� 
2p-1 ���0 ��� ���+ m = -1 , l = 1 , n = 2    

 

�     ����
�� ����1� #+ 
(108)        ��K���� !��
0��� G�6��� ���1� 
 ����0�� �+
����� :  

 

E = 
22

42

n2

'Ez

h


 = - 

a2

'e

n

Z
2

2

2

   … (111)  

+ A�� 
  :
2
'ue

h  ≡  a   

 ��8 
�n = 1 , 2 , 3 , ….   >�K R��� 

80 %��8
  E ≥ 0  �	
 �+
���  
 �
10��� ���S0� ��� .  

  F� 
�� �3����� 

80 ����13 ��� ��M���P ��
���
 

�08� )E�r = ∞  ( 

3H ����� �K�� ���� 

r

'Ze
2

 ����1� �3 (107) 
0���� �/S0� T  ��K���� A�+ 

  �<D .     F� �2�� ���3 �0�� !P�+��3 ��8	
       ��
��'� G������� 
� G���0�� 

�08�
 ����� !�K�� %'0�0 ��3 .  

  

  
�   P� ���+�� !�K�� 
            �����1��� ��3 ����1� ��	 -��	 ������0�  

(111)             �+
������ ���K���� !��
0����� 5�1� C6
�3 ���0�� #8��� ���   

� �K�� ����
 ���� .  

 

�  
a     ����1� �3 ��
�
��� (111)      
��
������ ����
 #
��� ��1�� ��� 
3H E
��0 ���0.5295 A

o  ��� ����1�� >�2�� 
* 5�
10�� �1� 2
h µ , e'

2
 ,   


�     �++D��� �'08�� �����0�� ��µ      ���10 �3 a    F� �'08 ��    

�08�m 3 H  ����
'* #D+��� �	
� ��K �D� ao.    
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�U

  

 

 �	
��
	��� ���� 
�
�� ���+ ���
� �	��+�� ��	��)���  

  

  

ao ≡ 
2

2

me

h
 = 0.5392  A

o
      … (112) 

 A�+ao ����� �	
� ��K �D� 
	 n = 1  �	
� ����� �3 E�M�� .  


� ��'1� ��Z = 1 , n = 1  ����1� �3 (111)3  H  �'* #D�+�� ����  ��K�� 
 ��20���� ���+��Egs 
��
������ ����  :  

Egs = - 
a2

'e
2

 = - erg10179.2
)cm105295.0(2

)Cstat10803.4(
11

8

210










 

 


� ?��+ ����� ��Egs 

 >�/0��3 ���
� !��+
�
2/1

0
4

e


= e'  A�+ 

0
 

  W����<�� ��+����� ���	 permittivity of vacuum  E
����0
   

8.854 x 10
1-12 

C
2
 J

 -1
 m

-1
  �04�8
   :  
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�X

Egs = - 
)m105295.0()mJC10854.8(4

)C106022.1(
10211212

219








   

 

     =  - 2.179 × 10-18 J                                                        
� ���
:  

1  ev  = 1.6022  ×  10
-19

 J  = 1.6022 × 10
-12

 erg . 

 

80 �M��* :  

Egs = - 
a2

'e
2

 =  -  13.6  ev      … (113) 

� 
| Egs |F ��
'�� �K�� #K� �	 F� ���B �	
 
��
������ ��� 
� 

�08�
 
	 
��
������ ���� 
�S0�� �K�� #$�013.6 eV4� ���8��
   �����1� ���08 


 ��K���� !��
0����(111) ����0�� �N�D���  :  

E =  - ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
2

2

n

Z
  ( 13.6  eV )     … (114) 

������
'1�� Y����  ������ !����+
 >����� >��8�� Y������8 #����� ���3   

����   ������� !���+
��� atomic units   ��10 E���� �   !��K���� :��3   

 E�0����� !��+
�hartree    �
����� !�3������
 Bohr    -��	 ���10
   

 �'� ��8 !��+
�� :  

 

1 bohr ≡ ao = 0.5292 A
o
    

 

1 hartree ≡ e'
2
 / ao = 27.212  eV  .  

 

 %���
3H 
Egs  ���'� H E
��0 - ½ hartree    ��/L0 �����*  a   

'*� E
��0 ���� ,��� ao.   

 

   R��� 
4�
���          �����1� ��3 ����
��� !P����� (109)   �8���
   

61� ��	�   #���
1�� 
�� l,m   ( θ ) , Rn,l  (r) ��
��   �   !P����� ��3   

 A�+ 
��
������ ���� ���
���Z = 1 �   ����1� �3 ���1��(109) .   
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�Z

R1,2   ≡  R1s  =  2 ( 1/a )
3/2 

 e
- r/a 

   

  

R2,0   ≡  R2s  =  

2/3

a2

1
⎟
⎠

⎞
⎜
⎝

⎛
⎟
⎠

⎞
⎜
⎝

⎛ 
a

r
2 e

 - r/2a 
   

 

R2,1   ≡  R2p  =  

2/1

3

1
⎟
⎠

⎞
⎜
⎝

⎛
  

2/3

a2

1
⎟
⎠

⎞
⎜
⎝

⎛

a

r

e
 - r/2a 

   

 

R3,0   ≡  R3s  =   
27

2
 

2/3

a3

1
⎟
⎠

⎞
⎜
⎝

⎛

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛
2

a

r
2

a

r18
27 e

 - r/3a 
   

 

R3,1   ≡  R3p  =   
3/1

)3(81

1
 

2/3

a

2
⎟
⎠

⎞
⎜
⎝

⎛
⎟
⎠

⎞
⎜
⎝

⎛ 
a

r
6 e

 - r/3a 
   

Θ0,0   ≡   Θs0    = 1 / 2  

 

 

Θ1,0   ≡   ΘP0    = ( 3/2 )
1/2

  cos  θ 

 

Θ1,± 1    ≡   ΘP + 1  = ΘP – 1   = 

2/1

4

3
⎟
⎠

⎞
⎜
⎝

⎛
 sin  θ 

 

Θ2,0    ≡   Θd 0  = 

2/1

8

5
⎟
⎠

⎞
⎜
⎝

⎛
 ( cos

2
  θ – 1 ) 

 

Θ2,± 1    ≡   Θd + 2  = Θd – 1   = 

2/1

4

15
⎟
⎠

⎞
⎜
⎝

⎛
 sin  θ  cos  θ 

 

Θ2,± 2    ≡   Θd + 2  = Θd – 2   = 

2/1

16

15
⎟
⎠

⎞
⎜
⎝

⎛
 sin 

2
 θ   

 

 #��1�� ��� E�3 E
�B��Φm ( ø ) ����1� 
� 
�10�3  (110) !P�+� �������
 
s )  A�+l = 0  ( 3H ����1� 
(110) ����2��� E�3 #��* ��10  

2
1   .
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��

3 ���0���
H   E
�B��� #���1�� 
 ) E� :Φm ( ø )  Θ1,m  ( θ )  !P��+�  s 
 ���2��� E
���

4
1'* ��01� P 
	
  � Φ ,  θ   �3 ���
H !P����� 
  

 !P���+�s��'* ���23 ����010 � r� �����* #���2� �����0���
 S ���'$��0� �����  

 G��
�8spherically symmetric .  

 

  !P�+� ���l  ≠  03  H  #��1�� 
E
��� P E
�B��   9 ��0��$ ����8   

 
�
Φ  
 G���
�8 �'$��0� !���  �  ������ ��Rn,l (r)  #���2� r   !P��+'�   

n =1,2,3'* #D+��3 
��
������ ����  ����0�� #8��� :  

  

 

 ������ �	
���
 ��
��
n = 1,2,3 �	��
�	��
 �
��   )�	��  �r �
���� �� a(   
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�[

  
� ���+=� #8����� ����	 ���3
Rn,l (r) )  ����0���
 � (  P  

 ��
��� ��* ��<D E
��0 )   A��+ #�D��r = 0  (   !P��+�s .   %���8
  

   
�	 ��21�� ��* 
� �<�� !�$��� #8��� 
� �+=�n – l – 1  )    

�8� P

 �21�� ����6�r = ∞ , r = 0(   

 

 

 �������0+� ����10 
� ����	 ����<��� 
���
������� � ����* 

���08�  

   ���1� �3���r �                ������0+P� ����� >���� %��� #��* #���
 ��
���� 
  

r
2
R

2   #��2� r                A��+ ����0�� #8���� ��3 
���� 
�	 ���8
 �   #��1� 
  

 �3�����r'� �\�1� ��
��� 
� 

�08� ����0�� ����1���� :  

 

r' = ∫  dr* ∫
x

0
[ Rn,l (r) ]

2
 r

3
 dr  

 

��
    
��
������� ����� ������( Z = 1 )    ����+ #�K� ��3  )  A��+� 
 :  

] = l 9 n = 1 (  �'� ��8 �3����� #�1� 

8� :  

 

 

 

r' = 
3

a

4 ∫
x

0
e 

 -r/a 
r
3
 dr = 

3
a

4
 

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛
4

2

a
!3  = a

2

3
 

 

 

 

  E�� 1� 
  F �3����� #�         ���K ��D��� �$=$ �	 ��
��� 
� 

�08�

� ����� �3 #
�� ������	 
��
������ ���� ����2�� �.  
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[�

 ������ �����Angular momentum  :   

 

  �     '* �8�+ �3 >��� E� 
�   �+�D�� 
+�� �/ :    E
�B >B* L  ��8 
 ���0�� #8��� �3 
��� 
	 :  

  

�
���  ��
��
L ����� �	!�� "��#$�
 m %�� &
��	 O �$' P�
 ��* ��� ��+�
  

 

  A�+r           F� >������ #�D� 
� B�8�� 
� :�0��� 
	    �$���+� ���   

  >����� .�  ��P    >B1�� 
�3  )  ��/�� (  
 >����'�      >������ �*��� E
����  

   :0'08 �3 .  ���L             G����
�* 

�8� :�	��0�
 >����'� E
�B��� >B1�� 
�3   

 
� #8 �'*r 9 P  .  

 

 

 8���8�� �3
�              >B�1�� ���	 E
�B��� >B�1�� 
�� 
�*
� ��
� >8��   

 E�������� E
�B����orbital angular momentum )  #��$��� 
��	
  

��>B1   E
�B��L    -=*� �
8����  (  �
1�
���        W���<�� ��3 >����� �8�+  .
�� 
	 ���$�� ^
���
>B1  ������Spin angular momentum   ����0� 
	
 

 -�
+� #
+ >����� >��� .  

 


� >8�� E��* 
m , l   ���� 
����0��  >B1  \� E
�B���  

��08� .  


�����2� 
� ����
 ���KF� >B��*  E�������� E
�B���� 

���08�L #
��+   

 ��
���E
���  h [ l ( l + 1 ) ]
1/2

  .  
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[I


�    ��8�� ���2� 
L    �
+��� #
+ Z )   E�Lz (   E
��0hm  .� 

F� >B* ���2�B�� 

�08� !P�+� E������ E
�s )   A��+l = 0  (   E
����

 !P�+�
 G��<DP )  A�+l =1  (  E
���h2 )   ����Lz  !P��+� P 
 E
��03h�<D 
� � 
� h�. (   

  

� ��8���� !�	��0P� 

�B�� >B1�  �$=$��E E������ L  !P��+� P  
 ���0�� #8��� �3 ����� �	 :  

  
 

� �,�$$�
 �	-

.�
 ���	����
�/
 �

�$�
 ��
��
 �� ����� �,�
���l = 1  

 

 �������� ���	
�� ���
�� :Real ware functions :   

�   ������ 
    ����1� �3 (109)     ����1� �3 G�6��
 (110)     ����� ��	 
1� ��2Complex function     !P�� R�� #���10�� 

�M�����8�� ��� G����&
 

Z 
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[O

   

8� ��2�2+�       ��21� !P�� R� #��10�� 
� ��� .   #�� 
�
  �'* #
D+��� 
 ���0�� 5�<�� >�/0�� ��2�2+ !P�� :  

 "� ��/ ��+0� E� 
Linear combination  ���� 
�0��
� 
�0���� 
      0� ��
�2� ���
� ���� 
	 �K���� ,<�    ���<� �K���� %' . "
�  ���  ���/2p  GP�$� 

3 ���H �04� ?08�� ��� :  

  2p  = R2,1 (r) Θ 1,0±1  (θ)Φ0,1 (ø)   

 !P�+�� �/�
 5�
10�� �1� 
�Sp-1  , Sp0  ,  2p+1  

 #8'*�  ���+ 
 �'� �� ?08� :  

 

 2p+1  = be
-Zr/2a

   r sin  θ  e
iø

     … (115) 
 

 2p-1  = be
-Zr/2a

   r sin  θ  e
- iø

     … (116) 
 

 2p0  = ce 
-Zr/2a

   r cos  θ       … (117) 
 

 A�+� 
 :  

C ≡ 

2/1

1
⎟
⎠

⎞
⎜
⎝

⎛


  

2/5

a2

Z
⎟
⎠

⎞
⎜
⎝

⎛
 ,  b ≡  ⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

 2/1
8

1
 

2/5

a2

Z
⎟
⎠

⎞
⎜
⎝

⎛
 

 

 A=$�� !P��1��� 
� C60��2����� ������ 
� 2p0      ��3 ���2�2+ ���� �	 
 
�+ 2p + 1  2p – 1  ,  
� G�2��� 
��� 
	 ��8
 
�0�21� 
�0��� ��	 :  

 

Z = r  cos θ  , y = r  sin θ sin  ø , x  =  r sin θ  cos  ø  … (118) 
 

 ����1� ?08� �M��*(117) ���0�� #8����  :  

 

  2p0   = cze 
–Zr/2a 

  ≡    2pz       …(119) 
 

���
� -��0�P� ��� 
�� �'/�� >�* Z , z 	 ��
�� A�+ � �  �$���+
 �&��3 ( 
�0����� ��� 2p + 1  2p – 1  ,    ��
0'������ �$L��'� 
�0�0�� ���3 

     ��0���� ���2�� ,<� ����
 .          ���� 

8��
 9 ���� ��/ ��+0� E� �/� ���8�� ���
 ��
�2� ���
� . ����0�� �K=1�� ?08� Y���� �3
 :  
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[Q

e
iø

 = cos  ø  + I  sin  ø       …(120) 
 

 %��8
 :  

 

e
-iø

 = ( e
iø

 )
*
  = cos  ø  + - i  sin  ø      …(121) 

 

 ��/�� ��+0P� G�6�� ��	 ��1�
 2px    ���/�� ���+0P� %��8
   

2py   �04�8  : 
 

  2px   = (  2p+1 +    2p-1 ) /  2    …(122) 
 

  2py   = (  2p+1 +    2p-1 ) /  i 2    …(123) 
 

 )� #��1�� 

2

1� 
�0���1��� �3 *� -= !P���� %'0� ;���0�� #��* #$�(  

 ����1� �/S�� 
4�
(122)  
* ���3 5
1�
  2p+1   �����1� 
�� (115) 
 
*
 2p-1 ����1� 
� (116) �0����1���� 
�10�� >$ 
�
 
 (121) , (120) 

 
* 5�
10'�e
-iø 

 ,  e
iø  ��� `0�� �
�3 :  

 

  2px   = 2  b e
 –Zr/2a 

 r  sin θ cos ø   …(124) 

  

 �K=1� ���10�P��
x ����1� �3 (118)  �04�8 -=*� ����1��� ?08�  :  

 

  2px   = 2  b xe
 –Zr/2a 

 = cxe 
–Zr/2a 

    …(125) 
 

 A�+�  
b = c  2    

 ����1� ���08 ���8�� -=*� �2����� ,<��
(123) ����0�� �N�D���  :  

 

  2py   = cye 
–Zr/2a 

       …(126) 
 

 )  �� R��� ��
���
��� ��'<����� B
������ 
� ����+=� !P���0���
P   

 ) G=$�Py , Px , Pz ( �� 
� C6
0
�B�� Y�B� %'0�0 ���
��� !P���� -��� ��
DK��'* >�2�� � !�	��0P� #
� y , x , z '* � ���
0��  . (  
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��
�����Orbitals:   

  

             

��08�F� �����+� ���&��3 ���
� ���� 
	 #�0���
�� .  ������
  

        :�0P�� R���� 
H�3 ���� 9 �a��+�
 �G�
�08�� %'0�� :	����
 
��
������ 
�  

�
� �	 ���
��� !P�0��.  

 

             ������0+� B��8�0 E� C��� ,���� ��'* #��0���
� #8� ��+�
Probability Density �G2'N�� 

8 E���
 !��$  ) �G��60� 
� (  YB�� �'*

 ���8 ) ���
+90 / (  

�08�F� ����� �����0+� 
�.  

 

       
	 �����0+P� B�8�0 
�2
|| .    

8� ����*
2

||     
H�3 �0��$ || 
     
H3 �M��*
 �a6�� 

80�||           ���* ��	B8�� ���8 C�� �'* �0��$ 

80 

��
��� . #�0���
� 
H3 ��8	
s=8� %'0�� �
�8 �.   

 �04� ?08�� ���H3 #8��� ��	 :��60� E��� �����0+� B�8�0 ���/� ���
:  

 

9.0d|| 2 ∫
 
       …(127) 

 
�d�10 E
�8�� ���2�� �$��+F� >����� �3 � �04�8 :  

 

 dddrsinrd
2  

      …(128) 
 

     ���/� ���
r1s 

       #�0���
�� ��K �D� :�� ,��� �'*1s
 

  ?08�� ���H3
 ����1���(127) ���0�� #8���� :  

 

9.0d})(|)(|drr|)r(R| 2

S1

2

0
S1

0
22S1

S1

0

 ∫∫∫


  …(129) 
  

   �'* #D+� 
� ���8�� ����
r1S = 1.4 A �
�
 
��
������ ���� 
            !���
 �3
�S� �	 A�+ !P�0���
�� #�8�� 
* �$8� !=�D<0 �3 #/�� P

        !����F� ��	 -�8� �N��� E��� 
8�
 ����&signs     !P���� -�	 �	�/S0 �0�� 
 !P�0���
�� E�.  
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[X

    !P�0���
��3s     ���
� ����F� 

80       
�+ �3 
�8� #8 �30  ����
      T�/�� !P�0���
"� �����
 ���
� !����� .     >��2�� A�+0 ��8 C�6
0�


     #�0���
� �/S� ���
���
 �������2PZ         �0����1� ��3 ����� ��P
 ��1� E��� 
(117) 
 (119) �04�8 :  

a2.Zr
ra

Z

2P2
caecosrec

      … (130) 
 

      T
0����� ���* �a�<�D 

80 ������ -�	 
�xy  )  A��+z = 0 (   

      T
0���� ��	 ;
3 ���
� 

80
 )  
�cosθ      ����
� 

80 ��	  (  ������
  

 :0+0 ) 

80 A�+cosθ ����� ��	  ( ���0�� #8��� �3 
��� 
	 ��8:  

  

  

  

  

  

  

  

  

  

  

  

 ���� ���	� �
�
� 
��
 ���	2pz ������� �	 ����	 �� �����	 �����  

 

    ������ !����� ��010
          !P��0���
�� #�$��0 
�* >'80� ����* ���� 
symmetry of orbitals  ����� ����* �M����8�� ����0�� !����� �3 �a6��
 

�K���� !P�0���
�� #/��0 
� ?8��0 overlap of orbitals.   

 

Z 

X 

-  -  

+ +   P 

Y 

����	  Cos θ 

! ° ≤ θ ≤ 90° 

����"  Cos θ 

#! ° ≤ θ ≤ 180° 

o b e i k a n d l . c o m



[Z

������������� ��� �:  

    �0����� E
�B�� >B1�� 
	 >����intrinsic angular momentum 
   :8'0�0 �0��   ������� !������� )         E
�B��� >B�1�� ���� �3�6� >B1�� ��	


  E������ )     �G2��� ���'* �� E��� (          ��3 :�08�+� ����0� >������ ����8'0��  

  W��<�� .             J���� :��� ,���� �'* ������ E
�B�� >B1�� 
* �
D0�� #���
  

 -�
+� #
+ >����� >�� 
�.  

 

    8���8�� 
�� �2��          E
�B��� >B�1�� ����2� 
� >8��    E�������L

r

  E�   

     ��� ���+0� 
� 
�8�� >����[ l ( l + 1 ) ]
1/2

 h
+  A��+  ....l = 0,1,2   

 ��8�� 
�
z )  E�Lz (  >�2�� �/S�3mh A�+ m = - l, ….. + l.   

  

              B����� ������� E
�B��� >B1�� :�0� ��1�'3 
4� ���S

r

   >�����   

  ����� .  ��
D�
    >B�1�� ����2� 
� 5�0<� E������ E
�B�� >B1'� ������
 �+0� ������ E
�B��[ s ( s + 1 ) ]

1/2
 h 
�
 Sz >�2�� �/S� ms h A�+ � 
:  

 

ms = - s, - s + 1, …., s – 1 , s 
 

   ������ E
�B�� >B1�� >8 ��* 
�mx , s  >B�1�� >8 E��* 
������ 
 E������ E
�B��m , l ���
0�� �'* .  

 

    
�             !������ 
�� 
��1� ^
�� �+
� A�+ G=��8 ,�� ����0�� ��	
        
� ��+�
 ���K %'0�0 
� ���8�� ������s         ���* �D�� 

80 
� ��� �	
 

 C�+D ) E�
2

3
,

2

1 (  C�+D ��* 
� ) E�0.1, ….: (   

               

�0
�����
 

�0
����
 

��08�F� 
S�� ?����0�� !���� �K
  

    � >�0 ������ !����� �	   �a��$8 
��M����8� (
    %�'0�0 ��1���
2

1
s    ����
   

 
H3ms !������� -��� :  
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[�

2

1
,

2

1
m

S
  

            
��0�=1�� 
���+�� 5�1� ��3 #�10�0
↑   
 ↓     ���� �����0� 

2

1
m

S
   
 

2

1
m

S
    ���
0�� �'*  .     
� ��� 5�0<� ���
��� ������ 
� 

    
�8�F� ��K �'��8 ��
D� >��� ���+ �D0 .    
�0���+ %�'0�� 

��08�F�


 ��	 
�0����
2

1
m,

2

1
m

XS
.  

 

                 ����3 ���
� ������ ����+ ��� ��� ���0 
� �N��� ���
��� ������

 
�0���� ���� �
�
 5�0<� %���
 

�08�F�β , α    ���10 ���
�� A��+ 

2

1
m

X
 ��$��
   ��

2

1
m

X
       ������� ?�6� 

�08�F� E��+� >����
 

 ��&��<�� ���
���),z,y,x(  
�0������� 
�0����� T�+H� β , α   #��� 
�� 
            !P������ ���0 !P���� -�	
 >���� 
�600 �'��8 ���
� ���� �'* #
D+��

 ��������– ������� .  

 

������� �	�
���
� ���
��� �
���� :  

             ��<0 
�	 >�8�� %����8��� ������ !����8�F� �+� 
��   ?��8�0�� �  

           
��
������� ��� ��S��� #
�'+ ��P�� E�
��� #
��'� .    5��3 ��'13  

               ����*� ���P�� :<�D
 
�8�� !��
�08�F� ����* ��� �3 

�08�� #8 
�  

 �1���� >8��ms , m , l,n.   

 

             :����� 
�	 ���K���� !��
0����� >��� 
�
      ����� ��M�1�� %����  

         E�
��� #
���� ?�8�0 C�6
0 ���8�� :�H3 9 
��
������ .    #
/���� #��K
  

��� ������ b��� GP
� �8���� 
� ����P #������� ����	 ���3� Y��$0���=� ��
  

o b e i k a n d l . c o m



[[

Pauli exclusion principle    ������ ,�<� ��3 
��
�08�� ��
� P 
	
   

 R���� >8�� ���*� ,<� ����.  

 

  � ?�8�0 #�� 
�
 
4�
 Y����� ���� >�/0�� E�
��� #
���Aufbau 

principle �'� ��8
 :  

 

 )  � (            >�8�� ����*� ����
� !��
�08�F� ����* ��� �3 

�08�� #8 �D
�
 �1����ms , m , l,n ���
��� ����1��� #+ 
� ���'* #D+��� %'0 �	
 

 
��
������ ����.  

 

 )  ? (      ���* ��� �3 ��K���� !��
0���� ?�0�0 

8�    ��� �a����� !��
�08�F� �
 
��
������ ��� �3 :�'* 
	.  

 

 

          ��6�0 !���
�08�F�
 �K���� ?�+ ?0�00 ���
�08�F� !��
0����3
           *��� 
� �'*
 �3
0� �K�� T
0�� #K� ��� #8 �3 

�08�� #8���   ����� 

�� Y��$0�=� ��
.  

 

            ��
 �D��* E� ��
�08�F� ?�0�0�� ���08 ���8�� �*�
2�� -���
 �8�  

             
�� ���
'1� ����K !�� ���K���� !��
0���� 
S� ��	n     �	����+0 
�8��   

  �=N�shell           ���
��$�� ��<'&�� 
�� ��*
��� E� subshells   ����+�   

 >�K ����
�l �+
����� .  

 

 

  =$�3 :� �=&  :n = 4 >�K 
H3 l �	 ��8���� 3, 2, 1, 0 >�2�� -�	
 
 ��
��$�� �<'&�� ��� �
10f, d, p, s'*  ���
0�� � . >�K ���m �3 ���1� ��3 

 ���0�� #
����:  
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  ��� ا��
ف ms m l  أ��� ��د

2 
±½ 
±½ 

0 
-1 

0 s 

6 

±½ 
±½ 
±½ 
±½ 

0 
1 
-2 
-1 

1 p 

10 

±½ 
±½ 
±½ 
±½ 
±½ 
±½ 

0 
1 
2 
-3 
-2 
-1 

2 d 

14 

±½ 
±½ 
±½ 
±½ 

0 
1 
2 
3 

3 f 


��� #
���� �D
 ���8�� %�� �'* aY��� �'� ��8 E�:  

 

 

   �� 
��
10 
�0��
�� 
�0*
�����3l = 0    ���
�� ��3 R��������
   

   ��� �
�10l = 2     F ���3 ����/�� ������ R������ ���� �  !���
�08P   

 

8� ���
1 = l.   

  

     R������ ��2�0
f )   A��+1 = l (      #<��� ��3 !1�6
 ��23  

            �� B��N� ���0�0 E�
��� #
���� �3 �*
��� #8 
�
 E�
��� #
����  #��  

                 #������ B��N�� ����� ���
�08�F� ?��0�0�� ���01�
 9 R���� �=& :�  

 ����$�� �*
���'� ,����.  

 

        �23 �����/�� !��
�08�F� ?08� ��8	
 )       �
��� %��	 
80 >� �� (
 �'$��� 51� �/S��
:  

H : ( 1s )
1
   , He : ( 1s )

2
 ≡ [ He ] 

 

 A�+� 
[ He ] �=& :�� ,��� �'* ��1� n = 1�  R��.  
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�]�

 

Ne : ( 1s )
2
 ( 2s )

2
 ( 2p )

6
 = [ He ] ( 2s )

2
 ( 2p )

6
 ≡ [ Ne ]  

 

Cl : [ Ne ] ( 3s )
2
 ( 3p )

5
 

 

Mn : [ Ar ] ( 4s )
2
 ( 3d )

5
 

 

             R� #�+�� 
	 ��8 ����� %
'�'� ���0� !�Y��$0�P� 51� ��
�
Cu 
 ��
�08�F� ?�0�0�� %'0�0 �0�� ����20�P� �D��1�� �3 :[ Ar ] ( 4s )

1
 ( 3d 

)
10               ��3 !����2�� 
� ���1�� ?'�0� :�� ����� ��0�	� ��	 ��$� P 
� �N���
 

 ��K���� !��
0���� ?�0�0 �����.  

 

    ��8�               ��3 ����8�
 ��*
����� ,�<� ��3 R�20 �0�� �D��1�� 
  

F ���'$��0� !���1�B
0 %��'0�0 ���<'0/� !��
�� 9 �������/�� ����0��
�08  

 1������� ����'/���� ���<'&�� 
� �����
  ���'* ����
��$ !���$S��0 ����� �  

              ������/�� !���
�08�\� #�$��0��� R��B
0�� 
H�3 ���� �D��1�� b�
/  

D�
/ ��1��� �����0� .  

 

 ��
��� 
����� ���	� :Atomic Radii:   

  

             E�
���� #
���� ��* ��
+'� ��
D� E���� ��2�� �D� ��N0� .
        � ��+�
�� �*
����� �3 !����� ���K� ��D�� ����2� ��13  T��   ���B0 �3 ���

 �*
����� #<�� 
+� ����0� ��'8.  

 

   G=$�3 :    E� �=�& ���� �����/�� >
�$�'�� 

�08�� #/��n = 2   

 ) ��� #/�� ��	2s (  ��� ����/�� >
���0
��� 

�08�� #/��
( n = 4 ) 4s 
 ��� ����/�� 

�08�F� #/�� >
�B��'�
6s.   
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�]I

         ���K !��B ��'8 �G2��� �� ��8
n H3       �����F �����0+� �DK� �2��� 

             ����+��� ���'� >�+�� #�1� 
H3 ��8	
 ��
��� 
� �1��
 �1�� 

80� 

�08��

 ����B� ���B�� �����0+� �DK� �2����n.   

 

   ��
'1� ��
� 
�6 ��� ) : ��n = 3, n = 2 (   ���2�� �D� 
H3
 ��
��� #=/ ���0�� ��& ��
D� bK��0� . �� ���n = 4 ��1�� 
H�3   ��D

 10 ����20�P�
    ��N0�� ��	 ; .     !P�0���
� Y#� >0� ����*
d    ��2�� �D� 
H3 
	��0� ��
� ���+ #8 �<3 bK��0�� ���* ��
D�� 
:  

 

        � ���1� ��
� 
�6 !��
�08�� �3�6� 
�0���?     ��+���� ����B �3 
            %����
 ��
���� -��0�� !��
�08�F� ?+� #
�+0 ���/�� ����B�� -�	 ��

���

�� E�L0 ��2�� �D� b�'20 �.  

 

              

��08�� �3���0 
� ��B0 ��3�6F� !��
�08�F� 
� !K
�� ,<��
– 
             
���	 
�� ��B�
��� 
�
 ����� >�+ �3 ����B ��� E�L�� ���0���
 

�08��

 ��
��� 
�6 ��2�� �D� ��N0� �
+'��� %
'��� ��+0 �0�� �	 
�	��0P�.  

  

 ������ ���� :Ionization Energy:   

  �20          ���� 

�08�F� ��0�� ��� �0�� �
2�� 
�S0�� �K�� , .  J3�80 �	

 �� ��
'1� ���K 
� 

�08�F� ���BF ��B=�� �K����n ��� n = ∞ .  �����


 �
�
� 

�08�� #8� 
�S0 �K�� ��
0 A�+ 
�S0 !�K�� ��* %'0�0.  

 

 �'� �� �����8�� �������� >�K 
� ��� C60�
:  

 

) �  (  � �K�� ���0               
�� ���8� ��$��$��
 #
�� 
�� ���8� �����$�� 
�S�0�  

 ��8	
 ����$��.  
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)? (       ����/�� �=N'� �����0��� !���0�0�� ���+ �3 )   >
�$�'��
 >
��
D�� #$�
        ����/�� �=N�� �3 �+�
 

�08�� ��
� A�+ (    
�S�0�� �K�� bK��00

 E���� ��1�� ��B ��'8.  

)c ( ����* �a��K �'����� !�B�N�� %'0�0 
�S0�� �K�� 
�.  

)� (            E
��$ �=& R� 
�S0�� ��	 
�60� ����* ���+ ��
D� 
�S0�� �K�� ���B0
      >
�'����� ���+ �3 G=$�3 ����Be         
�	
 ����$�� 
�S0�� �K�� 
� �+=� 

      �=N�� 
� ���$�� 

�08�F� ���B�2s   E
��0 18.2eV .     ��K�� ����
       
��$ �=& 
�60� E��� 
�S0�� E� A��$�� 
�S0��    
	 ���� E1s  E
��03 

153.8eV.   

 

 ��	�
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� ����� :Elecfron Affinity:   

                  ���� ��G�
�08�� ��� ��� ����0 �����* ���+00 �0�� �K���� �	

)AeA(

           ��D��1'� ����
�08�F� ��<��� >�K 
� ��� C60�
   

               !���
�08�� �1��� ��'* ������/�� ���0<'&� E
�0+0 �0�� �D��1�� 
�  

)   !����
�����8  (         #D�0� 

�08�F ��0��+� %��
 ���
�08�� �<�� �'*� %'0�0
 R��� ����/ �=& ���.  
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